10/23/2020

https://support.corehandf.com/Brands/Schwinn/Drawings/100179 D.1 WBOM - Flywheel.svg

# SKU Qty | Description
5 003-5819 |5
11 000-0102 |2 CHAIN TENSION BLOCK
23 ] 000-0172 |1 FLYWHEEL, PULLEY, TIMING BELT, SAC BELT
45 | 740-7296 | 2 BOLT, M6X1.0, 65MM, HEX CAP, SS
67 [000-0129 |1 AXEL, FLY WHEEL
69 [ 000-0167 |1 PULLEY, SMALL, FLYWHEEL, SAC BELT
73 [ 000-0184 |1 SPACER,FLYWHEEL,DR
74 [ 000-0185 |1 SPACER, FLYWHEEL ,NDR
90 [001-0583 |2 BEARING, RADIAL BALL, 6000ZZ
94 [001-0758 |1 LOCK RING, FLYWHEEL HUB, NON SR
95 [001-0759 |1 SPACER SPROCKET, NON SR FLYWHEEL
103 | 001-0783 | 1 HUB COVER, FLYWHEEL
114 [ 003-2357 |2 3/8 - 26 TPl HEX FLANGE NUT, SERRATED ZINC PLATED
115 ] 003-5549 | 2 P-S FLYWHEEL LOGO SM
116 | 003-5558 |2 FLYWHEEL LOGO LARGE
118 [ 003-5670 | 1 SM FLYWHEEL QUALITY STAR sm
152 | 902-5000 | 6 SCW-BHCS M5x0.8x16 SS
®

https://support.corehandf.com/Brands/Schwinn/Drawings/100179 D.1 WBOM - Flywheel.svg

12



